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o The total time allowed for this exam is 175 minutes. There are 110 points possible on this exam.
e This test is closed notes and closed book.
e You may not use a calculator.

e In order to receive full credit, you must show your work. Be wary of doing computations in your
head. Instead, write out your computations on the exam paper.

e PLACE A BOX AROUND ’ YOUR FINAL ANSWER ‘ to each question where appropriate.

e Raise your hand if you have a question.

This exam is printed double-sided.
There are problems on both sides of the page!

If you need more space, you may use extra sheets of paper. If
you use extra pages:

e Put your name on each extra sheet
e Label your work with the problem you’re working on

e Write on the exam problem that there is additional work
at the end

e Turn in your additional pages at the end of your exam.
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(12 points)

(a) (4 points)  If f(t) = cos(t)\/1 — t? + sin(wt), compute f'(¢). You do not need to simplify your
answer.

L&) - —s‘m[t\[\l l-t’*] + cos ) (-;(l-t’)’/‘ (- .?t\) ¥ tos(at)- ™

2 arctan(t)

(b) (4 points) Letg(z) = / dt. Compute ¢'(x).

1+ 2
X
os-ctan ()
N o'k.e a()a = = g' 0!‘{;
3 L+ ¢
' ()(\ z - m{la" LX
3 Ly x®
(b‘é Fre 1)
(c) (4 points)  Find Z—Z by implicit differentiation: y3 — 2® = zy. Your answer must be of the form
j—g:...ory’:...
2 dy : d -
S'd AX 3 X = X- —3— + é ( \3
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(8 points) A rectangular field adjacent to a river is to be enclosed. Fencing along the river costs
$ 5 per meter, and the fencing for the other sides costs $ 3 per meter. The area of the field is to be
1200 square meters. Find the dimensions of the field that is the least expensive to enclose. What is
the minimum cost?
(a) Write a formula that determines the cost of the fencing as a

function of z and y. RIVER

X

COS‘I'-'— Cx4 Sx o+ 2(3@ = 85("(0%\(_ (] Yy

x

(b) Solve the problem. Indicate units in your answer. Justify that the solution you found really is a
solution.
| 200

Mﬂ.:xa 0%00 AJ\UL"'"Z_OO r’ﬁ)(g:[lOO.:) 3;-——)(—

o C(x)= Bx + ("-L%gﬁ 1200
FYrrs

= &x + 7130 4{_1)0“4@,\ N
(O)'}O\ e Wi CM‘J' Leuge

C' ()= 8 — 7200 hagahive §:de Lesgla

x)_

‘ = —= = 2200 2 _ O
Cz0 = §=3220 5 . 7592 _ 4po - 3% o

=x= 30
-3
. o - — 7200 (-2) ¢
lq {»(;‘,Ls o~ N\O\)C/ww/\o C ()

Z2-7260

Se “Qu\dqo/\ v CU =D W, §o x=39 s o Yoceld

t

10 k=30 = &22 - 122 _ 4o =
B 4~ "o T 3~
ard €(3D) = §(3N+ 522= 40+ 240 = 430 2«0
4 3‘7'2,'3
Dimensions: x = 3 o Yy = O ?z

Total minimum cost: $ 42 )
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(12 points)  Evaluate the following integrals. For full credit, include a constant of integration
whenever one would be justified, and show your work clearly.

(a) (4 points) / <x3 + me® — sec?T(z)) dx

o
- X

X
X sate -4d i) +e
¢ 4{'_

: L2 1 I
(b) (4 points) /0 <t T + 30+ t2)> dt. Simplify your answer.

! |
= L at L ! Aﬁ ~ } N
£t+l * gfoutz v = 2 bR)- 740D

A _2 D
u= 1+l = du =d1 + < arcton (1) 3 arcfo-
. | = 2l (-0
L ! dy
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+=9° 3 v
\ = T
= JZQA(@\? + *'S' axfc‘l-a»[ﬂh LAl + I

P BN,
(c) (4 points) / 10 sin(2y) cos(2y)+/cos2(2y) + 5 dy

b U= (COS(z(N?‘;S—- Than %g}: oL ws(Z«:}\ (-SIA{Z@(L) =
s

O < du. So
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(14 points)

The function f(x) has been graphed below. The curve for 0 < x < 2 is an upper half

circle. Define a new function g(z), as

o) = [ fs)ds.

NO

H-

H_

)
4]

Use the graph above to answer the questions below.
Note: Pay attention to whether question concerns the function f, f’, g or ¢’. Also pay attention to
the scale and the labels on the axes.

(@) (2 points)

(b) (2 points)

(c) (2 points)

(d) (2 points)

(e) (2 points)

(f) (2 points)

(g) (2 points)

Where is f(z) NOT differentiable? If nowhere, say so. 2 =___ L,0,2,4Y
=%
T
+
9(4) :3_ /L
-2 _l |

g<—2)=l = f_( £(ds= - L\C(o ds = "UL)
gy —_2

6
Clearly draw on the graph an approximation of / f(s) ds using four RIGHT-HAND

4
RECTANGLES. Shade in your rectangles. You just have to draw and shade the rectangles; you do
not have to compute anything in this part.

:Drmv\ 7 b‘u.
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(24 points)  Consider the following function:

h(z) = (and notice h'(x) = 1 —2In(2) and n'(z) = 6111(95)_5)

x3 x4
(@) (1 points)  What is the domain of h?

XS0, what is, (0,00
(b) (1 points) Compute i(1).

)
hiy= 22 - 0.0
b L

(c) 3 points)  Find all critical numbers of 4, if any.

h' (%) = '_-M Lrikcad Poiat: LY(O=0 = 124 (D=0 =

%* (= Yy —>x e ’

lkvwb{iw! ok £=0 (wok acrifod point)

(d) (4 points)  Determine the intervals on which h is increasing Hint:
or decreasing. If none, say so. Show your work. I — L
L e | = 2 i
X \ I “ L~
W' () + © . ‘ ot
MA 1 T
W () A A i :
2
Nok ¢ wlz | (o, e™
\/\‘(_l\ - 1= (o =t v0 Increasing: 3
X ng: (&%, 00
l - |- ( Decreasing: >
w' (D Z‘b\ ) <0 g

(e) (4 points)  Determine the intervals where h(z) is concave up or concave down. If none, say so.
Show your work. /

W'(x) =0 = Qi"ﬁ— =0 = M=% Ddx=¢

Note ¢ » 2.3 W = 605 L o
\
X \ L e':/b | 00 p\“(loo\a b n(® -V >0
\l\“(\() - O :) \
NF S/
\/\(KB a * Concave up: (e b' NS

st >

Concave down: (D ) 4

continued on next page...
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In(x)

Recall that h(z) = PR

...continued from previous page

(f) (4 points) Compute the following. If you use L'Hospital’s rule, indicate where you are doing so

with H or L'H.
. . In(z) _ 4;5 L)
Jin he) = fim =5 = =y

L'

%P0 LY xpoo L

lim h(xz)= lim In(z) = prc _—-O_ (VLDJ' }dllw\

z—0+ z—0+t 22

200 o
= lim M&-j{{az—oo

xvot

(g) (2 points)  Find all asymptotes of f, both vertical and horizontal, if they exist, and use limits to
justify how you know that they are asymptotes.

T is o Won sonted Ma,mpi-o‘e ok Y=0 «anu .;%4',_;/)” W =0

Thee (e o VA abF x=0 sta v | ()= -0o.
x> ot

(h) (5 points)  Sketch the graph on the axes. Label with “Max” or “Min” any points on the graph
that are local extrema, and label with “Inf” any points on the graph that are inflection points.
Draw any asymptotes with dashed lines, and label them with their equations. Clearly mark on the
x-axis the z-values of local extrema or inflection points, as well as any intercepts.




MATH F251X FINAL EXAM FALL 2020

IZl (6 points)  The velocity of a particle in m/sec is given by v(t) =t + e~ 2.

(@) (2 points)  Find a function that gives the acceleration of the particle at time ¢ (in other words,
determine a(t)).

alt)= V' (€)> | + eﬂt (-2

(b) (4 points)  Find a function that gives the position of the particle at time ¢ (in other words, find
s(t)) if s(0) = 2.

-2+ {7_ -2t
- eAJc:ftw At = - v e
g4 \(v(\ > e C
w= -2¢
dus—ld'e
5 -2(0)
(== 0O, €& _ +c=2
2 “z
= "-é +C =2
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(10 points) A very simple model of a particular epidemic moving through a finite population is
given by the following equation:

1000

B -‘i:/v) =
1+ 199e— 14

N = |ooo(l+111e

where time ¢ is measured in days and N (¢) measures the total number of people who have been
infected at time ¢. (Note that this model assumes that once people have been infected, that they
stay infected — no one recovers, and no one leaves the population.)

(@) (2 points)  Find and interpret N (0).

1090 [0 _
Nl = ae = &gé g

At twe t=0, 5 people wire infecked.

(b) (2 points) Compute tl_i}m N (t). Write a sentence explaining what this limit determines.
< lOOO
Lim N (€ s Lom 4O = (000
L, tveo W e kit
( ; roo.les 1000.
O R s (e
(c) (4 points) Determine N'(¢). (You do not have to simplify.)

¢ Y |
N = -1 (tooo(t+ 199 e 7)) ® (tag e TR 4 chain rele

D

Wy = (e a9 e - (1000) (193 e ™) (-4
(1+149 o)

4 %u,o‘\' ent V‘“'QIL

(d) (1 points) It is computed that N'(10) ~ 13.5. What does this mean? Write your answer in a
sentence.

A 10 doys, the vade s wesd tfeckons 1 oboot 35 wasd Caw/a(aﬁ

(e) (1 points) If N(10) ~ 58 and N’(10) ~ 13.5, approximately how many people would you expect
to be infected on day 117

Moot €8+ 13.5 = 71.F Wfﬂaﬁmoﬂg@%u
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(12 points)  Consider the function f(z) = /x.

(a) (7 points)  Use the definition of the derivative to determine f/(x). Clearly show all the steps of
your work. An answer with no work (and no limits) will not receive credit.

F10) > dim {lce) 46D
h—vo W

Lo (o - Tx _U/Ji)
. . Seen >

\l

Yeh-x

X -n- - -

h-*0 h (W V%)

|
e
3

N
3

S

lh=>0 Jx+th *+ Jx

(b) (3 points)  Write the equation of the tangent line to the function f(x) at the point (9, f(9)).

L6 77 o4 TRt T and F(D=JR =3

L6 - y=(x-9)+3]

TM%W Lt

(c) (2 points)  Use the tangent line (linearization) to approximate v/9.1.

A% L(a0 s =(9es-9)+3:[3¢ %]
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Izl (12 points)

Answer the following questions about the function f(x) whose graph is shown below. Assume
the graph continues in both directions as indicated outside the bounds of the graph. If there is no
answer, write “DNE” or “none”.

T \ 3 W)
VL i
L\

Il

L/
's - X
H LS
-7 —6 -5 —4 -3 =5 -1 1 2 4 5 6
—1
—2
= -3

Determine the following:

(- 00, DU (-2, HU (%, 00)

(@) (1 points) Domain of f(z) (in interval notation):

(b) (1points)  lim f(x) = Co
(c) (1points)  lim f(z) = 2.

T—r—00 y . Tadeat s Yo 04l abonk
@ pointy tim fa) = > /L o &ish Lin L0 =BNE

T—2 -

3

(e) (1 points)  lim f(x) =

r—4

- S, 3

(f) (2 points)  The z-value(s) where f has an inflection point: z =

(g) (2points)  The interval(s) on which f'(z) <0 (— 3. 5—) -25 V (-21 |> = 4 JLU'/QKLS{’%

(h) (1 points)  The absolute maximum that f(x) attains on the interval [3, 3] &\"f =2
3
(i) (2 points) The average rate of change of f(z) on the interval [1, 3]. / ¢
LD-F_ 2

2-1 e (count S%WB
_ Y %,
e 3/4

-— 3_( = L
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(6 points)  Consider the equation cos(z) = z.

(@) (3 points)  Show that a solution of this equation exists. State the names of any theorems or results
you are using.

Lk £ Coglo) - x.

Obwspt £(3\-1-0=1%0 \ / /
ond ‘C(%S=O~%<o. \J/ u

g;r\u. L0 3 combanwoca dn [o,TyL]
La‘\—ﬂu ‘bt aadll ade Volue Yt 'k {a([gu)s Fat

W—Q %lS\'f GOne Cé‘(O) WLB S-'L- ‘@(CX:'O'%J:S NN
SolwRon Yot we au LH)LZV& @'

7.

(b) (3points) Suppose we guess that = 7/6 is a solution. [It’s not, but it’s not far off.] Use this to find
and simplify a better approximation of the solution to cos(xz) = x. State the names of any theorems
or results you are using.

We wAll wit nuofons nateal unrth X, -,
\b(’g\/\.z X, = Xy -~ ~p_’_(\c,b Wl ) = Cos (1) - =
+' (%

Note L' =340 -l so
ws(xlb— X, — + C,DS(\(O-\"‘KO

Xy = Ko - —SiAlk)- | ° Sralky) - !
- T_I‘+CD3(U7Q‘W'° ) I+J‘%“_‘/~
C S (T S Ve @
= T 4 ﬁ/z —? P J__E-.Z: - Tz
6 ‘3/1_ = A Zz 3 c 3

-~ T 3 _zw _ 37 +6R-4r (-
L 9 1€ - 18



